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Question 1 of 25

Term 2 Paper 1 
 
Section A: (5 x 1 mark) 
 
Choose the correct answer. 
 
Which is the correct addition equation for the picture below? 
 

A) 3 + 5 = 8

B) 2 + 6 = 8

C) 4 + 5 = 9

D) 6 + 3 = 9
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Question 2 of 25

Which is the correct subtraction equation for the picture below? 
 

A) 7 - 3 = 4

B) 7 - 4 = 3

C) 4 - 3 = 1

D) 4 - 2 = 2

Question 3 of 25

Mrs Ong buys 9 slices of cakes. She eats 2 slices. 
How many slices of cakes has she left? 
 

A) 8

B) 2

C) 7

D) 4
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Question 4 of 25

Look at the picture below. 
 

 
 
The shaded star is in the ______ place.

A) first

B) second

C) third

D) fourth

Question 5 of 25

Which one of these equations does not belong to the same fact family?

A) 2 + 8 = 10

B) 8 - 2 = 6

C) 10 - 2 = 8

D) 8 + 2 = 10

Question 6 of 25

Section B: (Total 10 marks) 
 
a) 1 more than 5 is ______.

Question 7 of 25

b) ______ is 1 more than 3.
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Question 8 of 25

Choose the options that have 9 as the answer.

A) 2 + 7

B) 4 + 4

C) 1 + 8

D) 4 + 6

Question 9 of 25

Use the number bond below. Choose the correct equations. 
 

A) 2 + 4 = 6

B) 2 + 3 = 5

C) 3 - 2 = 1

D) 5 - 2 = 3

Question 10 of 25

a) _____ - 4 = 2

Question 11 of 25

b) 10 - 5 = ______
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Question 12 of 25

Look at the picture below. 
 

 
 
Choose the correct answer. 
 
a. The horse is (between/before) the monkey and the sheep.

A) between

B) before

Question 13 of 25

Look at the picture below. 
 

 
 
Choose the correct answer. 
 
b. The rooster is fifth from the (right/left).

A) right

B) left
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Term 2 Paper 2 
 
Section A: (4 x 1 mark) 
 
Choose the correct answer. 
 
How many flowers are there in the box below? 
 

A) 15

B) 16

C) 17

D) 18
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Question 15 of 25

Which is the correct addition equation for the picture below? 
 

A) 8 + 8 = 16

B) 8 + 7 = 15

C) 6 + 8 = 14

D) 6 + 7 = 13

Question 16 of 25

Susan has 11 seashells. 
She gives some to John and has 4 left. 
How many seashells has Susan given away? 
 

A) 7

B) 8

C) 10

D) 14
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Question 17 of 25

 
There are ______ more leaves than caterpillars.

A) 8

B) 11

C) 3

D) 19

Question 18 of 25

Section B: (Total 11 marks) 
 
a) Write 12 in words.

Question 19 of 25

b) Write fifteen in numerals.
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Question 20 of 25

 
Choose two subtraction equations with the number cards above. 
 

A) 19 - 12 = 7

B) 10 - 3 = 7

C) 9 - 2 = 7

D) 8 - 1 = 7

Question 21 of 25

Complete the addition equation. 
 
a) ______ + 6 = 17

Question 22 of 25

Complete the addition equation. 
 
b) 15 + ______ = 20
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Question 23 of 25

Use the numbers below and answer the question. 
 

 
 
a) ______ is greater than 12 but smaller than 18.

Question 24 of 25

Use the numbers below and answer the question. 
 

 
 
b) ______ and ______ make 11.

A) 6 and 17

B) 17 and 20

C) 6 and 5

D) 20 and 5
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Arrange the ribbons in order. Start with the greatest using A, B or C. Put ‘space’ or ‘,’
between your answers. 
 
_______, ________, ________ 
greatest


